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@ Look at this number line.

—————

60 70 80 T 80 100

Put an “X” on the point that represents 10 more than 78.
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@ Look at this number line.

60 70 80 ‘ 90 100

Put an “X” on the point that represents 10 more than 78.
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@ Look at this number line.

e+

60 70 80 90 100

Put an “X” on the point that represents 10 more than 78.
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@ Look at this number line.
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Put an “X” on the point that represents 10 more than 78.

9
()

17




@ Look at the trapezoid below.

I

Use two different shapes from your envelope to make this trapezoid. Trace the
shapes to show how they fit together to make this trapezoid.
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@ Look at the trapezoid below.
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Use two different shapes from your envelope to make this trapezoid. Trace the
shapes to show how they fit together to make this trapezoid.
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@ Look at the trapezoid below.
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Use two different shapes from your envelope to make this trapezoid. Trace the
shapes to show how they fit together to make this trapezoid.
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@ Look at the trapezoid below.

/
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Use two different shapes from your envelope to make this trapezoid. Trace the
shapes to show how they fit together to make this trapezoid.
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@ This line plot shows how many servings of fruit each of Mr. Langer’s students had
yesterday.

Servings of Fruit

X

X

X

X X

X X

X X X
X X X X
| | | | |
| | | | |
0O 1 2 38 4
Number of Servings

Key

X represents 1 student

How many students had exactly one serving of fruit yesterday?

O
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@ This line plot shows how many servings of fruit each of Mr. Langer’s students had
yesterday.

Servings of Fruit
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How many students had exactly one serving of fruit yesterday?
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@ This line plot shows how many servings of fruit each of Mr. Langer’s students had
yesterday.

Servings of Fruit
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0O 1 2 38 4
Number of Servings

Key

X represents 1 student

How many students had exactly one serving of fruit yesterday?
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9+4 =1

a. Explain how Donny’s number sentence will or will not help him solve this
problem.
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9+4=[13]

a. Explain how Donny’s number sentence will or will not help him solve this
problem.

will no2 "\f.lf; hiwa becauvse he hasa + snC

nok oo T SIN&

b. How many birds are red?
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9+4=[5]

a. Explain how Donny’s number sentence will or will not help him solve this
problem.

by CounT. nay Ahe. Divrds

b. How many birds are red?

5
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9+4=[_|

a. Explain how Donny’s number sentence will or will not help him solve this
problem.

NO

b. How many birds are red?
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9+4=[19

a. Explain how Donny’s number sentence will or will not help him solve this

cz(ibleid / ,&4} B noler T W/g

/‘-@M. ST MI&M?

b. How many birds are red?

1
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@ Donny is solving this problem.

Nine birds are in a tree. Four of these birds are blue. The other birds are
red. How many birds are red?

Donny wrote this number sentence.

9-+4 =[]
a. Explain how Donny’s number sentence will or_will not help him solve this

R e miﬂm ger + oot

b. How many birds are red?
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.

75—50=35
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.

Andrew  has 250 |o4F
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.

25k
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® Andrew had these coins.

He bought milk for 25¢ and cookies for 25¢.

How much money does Andrew have now? Use numbers, words, or pictures to
show your work or explain how you know.

25 ¢pins IZF'/;,
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@ a. Write a number in the box to make this number sentence true.

_ a) Student’s answer is correct.
3+6=| |45 i

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

¢ L] 6
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@ a. Write a number in the box to make this number sentence true.

b ks
{'/J s l‘m_;;é,é—ﬁm

AL

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

(9+/+=?§+Q

3+6= +5
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@ a. Write a number in the box to make this number sentence true.

_ a) No response
3+6= +35 (O points)

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

21 %146
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@ a. Write a number in the box to make this number sentence true.

_ a) Student’s answer is
3t6= ll +5 correct. (1 point)

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

ESE
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@ a. Write a number in the box to make this number sentence true.

_ a) No response
3+6= +3 (0 points)

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

Y]] (3
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@ a. Write a number in the box to make this number sentence true.

= ] a) Student’s answer is
3+6= q +5 incorrect. (0 points)

b. Write the numbers 8, 6, 2, and 4 in the boxes to make this number sentence
true. Use each number only once.

3|+ Y- b |+ 8
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